

Why Macleay?

- At Macleay College we believe in real world course content to ensure you're job ready.
- Our course material and teaching method incorporates the latest industry practices and real world experience.
- Our lecturers are industry experienced professionals with up-to-date knowledge.
- Our small classes feature personalised teaching that nurtures your unique strengths.
- We outperform Australia's highest ranked universities in measures including Overall Quality of Educational Experience and Graduate Satisfaction in the Quality Indicators for Learning and Teaching (QILT) survey, and score well above the national average on all other indicators.

Units	Durations	Scholarship	Fees*	\$per unit*
24	2–3 years	\$18,000	\$54,000	\$2,250
24	2–3 years	\$18,000	\$54,000	\$2,250
24	2–3 years	\$18,000	\$54,000	\$2,250
24	2–3 years	\$18,000	\$54,000	\$2,250
24	2–3 years	\$18,000	\$54,000	\$2,250
8	1 year	\$6,000	\$18,000	\$2,250
8	1 year	\$6,000	\$18,000	\$2,250
12	1 year	\$9,000	\$27,000	\$2,250
12	1 year	\$9,000	\$27,000	\$2,250
12	1 year	\$9,000	\$27,000	\$2,250
12	1 year	\$9,000	\$27,000	\$2,250
12	1 year	\$9,000	\$27,000	\$2,250
	24 24 24 24 24 8 8 12 12 12 12	24 2–3 years 8 1 year 8 1 year 12 1 year 12 1 year 12 1 year 12 1 year	24 2-3 years \$18,000 8 1 year \$6,000 12 1 year \$9,000 12 1 year \$9,000 12 1 year \$9,000 12 1 year \$9,000 12 1 year \$9,000	24 2-3 years \$18,000 \$54,000 8 1 year \$6,000 \$18,000 8 1 year \$9,000 \$27,000 12 1 year \$9,000 \$27,000

Terms and Condition

- 1. Scholarships are automatically assessed upon submission of an International Student Application Form
- 2. Successful candidate has to maintain satisfactory progress for the duration of the course
- 3. Available to international students who enrol at Macleay College (2020 Intakes)
- 4. Bachelor Scholarship value is AUD\$ 18,000
- 5. Diploma (12 units) Scholarship value is AUD\$ 9,000
- 6. Diploma (8 units) Scholarship value is AUD\$ 6,000

Tuition fee breakdown

Instalments /Intakes*

Bachelor		
February Intake (3 subjects)	May Intake (3 subjects)	September (2 subjects)
\$6,750	\$6,750	\$4,500
Diploma (12 units)		
February Intake (4 subjects)	May Intake (4 subjects)	September (4 subjects)
\$9,000	\$9,000	\$9,000
Diploma (8 units)		
February Intake (3 subjects)	May Intake (3 subjects)	September (2 subjects)
\$6,750	\$6,750	\$4,500

^{*}Based on a student T1 start

English language and Academic Entry Requirement*

	English language requirements	Academic Qualification	
Macleay Diploma Degree	IELTS Academic Module: overall score of 5.5 (no individual band below 5.0)	Satisfactory completion	
Macleay Bachelor Degree	IELTS Academic Module: overall score of 6.0 (no individual band below 5.5)	 of Australian Year 12 or equivalent. 	

^{*}Journalism course's English requirement: IELTS 6.5 (Bachelor) and IELTS 6.0 (Diploma)

English pathways

By successfully completing English for Academic Purposes (EAP) at Macleay partner schools with the relevant grades, students will be eligible for direct entry into Macleay degrees.

Macleay College Pty Ltd

CRICOS PROVIDER No. 00899G

CRICOS Course Codes:

Bachelor of Business (Accounting): 094007D Bachelor of Advertising and Media: 092900B

Bachelor of Digital Media: 094006E Bachelor of Journalism: 080557M

Diploma of Business Management: 061395D

Diploma of Accounting: 094057E

Diploma of Advertising and Media: 056023G

Diploma of Digital Media: 094059C Diploma of Journalism: 056025F

These qualifications are recognised in the Australian Qualifications Framework.

You can find us on:















Sydney Campus Level 2, 28 Foveaux St Surry Hills NSW 2010

Melbourne Campus Level 7, 250 Collins St Melbourne VIC 3000

+61 2 9267 3311 1300 939 888

international@macleay.edu.au

MACLEAY.EDU.AU

